Foundations of Math 9 www.mrherlaar.weebly.com

Section 3.2 — Practice Questions

EMERGING LEVEL QUESTIONS

When we combine terms, we can only combine ones that are the same.
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It works the same with variables, they have to be the same to the same exponent!
4. 3x+2x = 5. 5x2 —2x?= 6. 2x+3y= Not LTkE
2 Teens

5x RY% W+ 3By

7. —2x+7x = 8. —5x?—7x%= 9. 4x?+5x—3x =
2
Sx — {2 z
\ Hx + Ax
10. —3xy — 4xy = 11. 2t2 —3r2 + t* —5r = 112, 3r+5r—8r =
- = = _= |
by | 3 -yt 0 o« O

PROFICIENT LEVEL QUESTIONS

Combine the LIKE TERMS and solve for the variable.
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Use the Distributive Method to Solve the Following (WATERBOMB)

27. 2(x +4) = 8

28. —3(5 K. 7)=-5

-2 -2t
a s =
dt * 8--b

= —

30. —5(6 —-z)= 3(2 +4)
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31. —2(41: +54) =3(-t+5)
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32. 3(3q —4) = 2(4q +5)
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33. 3(4r—3) =5(—2r+6)+2 34. 8(3t—12) = 12t
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